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9) center = (0, 0) radius = 2

10) center = (-3, 3) radius = 3

11-1
1) 27.5
[image: image9.wmf]3


2) 40
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3) 50
4) 44

5) 65

6) rectangle

7) parallelogram
8) square

9) parallelogram

10) 1092

11) 69

12) 3417

11-2
1) 7.6

2) 26.5

3) 767

4) 21

5) 64

6) 7.5

7) 17

8) 6.75

9) 4.5 and 3

11-3
1) 1044.7
2) 695.3

3) 169π

4) 616.2

5) 144π – 288
6) 19.36π – 14.52
[image: image11.wmf]3


7) 625π – 937.5
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8) 243
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- 81π
9) 482.8 square inches

10) 0.373 square yards

11-4
1) 400

2) 660 + 121
[image: image14.wmf]3


3) 112 + 10.125π

4) 599 + 112.5π

5) 20.5

6) 22.5

7) 91 + 12.25π

8) 434 + 44π

11-5
1) ½

2) 9/20
3) 7.875π
4) 7.59375π

5) 4.78125π

6) 5.48; 0.0577
7) 11.714; 0.0516
8) 11/25
12-2
1) 1920

2) 130 + 10√89
3) 132

4) 123.5

5) 514

6) 221 + 7
[image: image15.wmf]205


7) 171 + 9
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8) 1680
9) 124.5
12-3
1) SA = 272π

2) SA = 624π

3) SA = 546π

4) SA = 90π

5) SA = 47.5π

6) SA = 344.5π

7) 503.5π

8) 1008π

9) radius is about 5 mm
10) radius is about 10 ft

11) radius is about 3 in

12) 100π cm

12-4
1) 261

2) 126 + 12.25
[image: image17.wmf]3

= 147.2

3) about 205.5

4) 60 + 9.375
[image: image18.wmf]3

= 76.2
5) 92 + 48
[image: image19.wmf]23

= 322.2

6) about 785.5

7) about 75.6

8) about 130.2

9) about 3.8 meters squared

12-5
1) 198π

2) 49π + 7π√373

3) 1825π

4) 66π

5) 16π + 4π√41

6) 49π + 7π√490

7) 96π

8) approx. 669.3
9) approx 1338.6

10) 800π
12-6
1) 
[image: image20.wmf]212


2) 25

3) 
[image: image21.wmf]108


4) 7.3

5) 169π

6) 7921π

7) 36π

8) 141.12π
9) about 16.4
10) about 79.5
13-1
1) 4080

2) 56.25
[image: image22.wmf]3


3) 1120π

4) 294π

5) 2600

6) 1920π

7) 11245.5π

8) about 152.84 gallons

9) about  2203344 pounds

13-2
1) 317.5
2) 2395.8

3) 1419.4
4) 1104.6
5) 132π
6) 4688.3
7) 15.9
8) 341413.3

13-3
1) 7986.4

2) 2572.4

3) 926.6

4) 2424.5

5) 49.2

6) 7832.9

7) 3294.8

8) 8578.6

9) 671.3

10) yes, the diameter of the sphere is smaller than the dimensions of the box and the volume of the sphere is smaller than the volume of the box

13-4
1) congruent

2) similar

3) neither

4) similar

5) 5/3

6) 25/9

7) 125/27

8) 921.6
9) 37.5 x 18 x 15
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